y*+11y*+30




Expand:

X4\Y X+, X’a‘-‘fx+5(-;)o )‘7‘-X <+
= Wiy = XHX-20 X



1 X2 1+ 1 X - 6 Find two numbers that

dd
.3 + _a l toa?ive 1
d
@ 3 X _D, =~ mirlltigl,_;
to give -6.
NXN



Factoring Trinomials
xC:z—'Sxf?uwtgx._?,— b
&2 X ;\_A+ﬁ_—5

N8 3381
wlilow@o D x - 39
(\Nﬂsﬁ\)\-?,)\_i’_ﬁi— YA
x” - 6xy +9y° -3 =5 =ﬂ

&33P 32l

2

x-3)




Rules of the road...

Signs are the Same!

£ ’ 2
’
Sign of both E

Numbers. Signs are

the same.



Rules of the road...
Signs are Different !

P

X X@§
Sign of the |
biggest number. Stgns are

different.



i W X -6xy+9y

og)-3y) 223
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